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Question 2- A person gains 40% after a discount of 20%. If the selling price 1s Rs

8400)then find marked price of article.
T 2- Teh SFi<h shi 20% hl BE o S1& 40% 1 AT i1 ol Ffe T AT 8400 w0
2, 1 & 31 Jifehd 7o J1d 115

A.Rs 12,500
B.Rs 10,400
£7Rs 10,500

D.Rs 10.300
https://t.me/mathbytarunsirmepl
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Question 3- a:b=7:8 and b:c 1s 9:10. Find a:b:c
T 3- a:b = 7:8 3T b:c 9:10 Bl a:b:c JTd kit

Bl s
A 9y
2 I o
G A.63:90:80
. B.63:72:82
C.63:34:80
—P-63:72:80
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Question 4- Find the amount received on a sum of Rs 15,000 at 10% per annum

compound interest for 2 years.

T 4- 15,000 T AT TRT O 2 A o6 TeTT 10% MMk =shallg, SATST ohl L H ITH UM

SRS
1 Q?f?f/s? = X449+ X4
(0o
= 10104 [oxio A.Rs 12150
{0 B.Rs 13150
= 7\(8/0 C.Rs 17890

—DRs 18150
https://t.me/mathbytarunsirmepl



=)UP C[la'é_-[ DdI3¢dcT 20234

(1) fomomt( Qﬂa D= [8l% of 15,002

= 1&150&_

https://t.me/mathbytarunsirmepl



=) UP QIcT>A DR 20234

Question 5- 38 X 42 + 20% of 500 =7
I 5. 38%42-+500 T 20% = ? Q07 S
06 D
(f0-2)(40+2) i i
= 5616‘\'\00 (dﬁ)(@é):q’- (DL v

= 6%
A A.1196

B 1696
C.1766

D. 1800
https://t.me/mathbytarunsirmepl
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Question 6@.06 X 10@+ 56 X 56 =7

|
976- [ 106X108) 56 X56 =2 0 {F@})
i 06" >+6

= “Jil‘f&q‘— BE56 ,O&%IHH( Ly
= (4500194 g
= 1H5gy <§L 2 A.13584
6o C. 11585
:gw\% D. 11484
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QUESTION 7- THE LCM OF TWO NUMBERS IS 1920 AND THEIR HCF IS 16.
IF ONE OF THE NUMBERS IS 128, FIND THE OTHER NUMBER.

T 7- ST WA bl &, H. 31,1920 © TR AR 1. T. 3. 16 3l Al Tamen d
Y Teh 128 &, Tl gl HEAT 1 hifstl

A. 120
B. 150
—&— 240
D. 432
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QUESTION 7- THE LCM OF TWO NUMBERS IS 225 AND THERE HCF 1S 5. IF
ONE NUMBER IS 25 THEN FIND OTHER NUMBER.

T 7- ST G Rl o, F. 37, 2252 3N H. 9. 37, 53| I usp T 25 2 ot

Egﬁa@msud ShifST
A.225
%Yd )zSXZQ B.5
C.25
E ‘L‘Q D-45
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4 3
(QUESTION 8- FIND THE LCM OF T

: (] N A3 )
ng_of 7%6%7 _ Lm 0{ N by &
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(R A 7-g. 34)
A.10
oo \L _BA2
| C.14
SRR D.15
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6 9
é s :2 Question 9- Find the HCF of R
SRR

S \BF2 3

i 6 9 G
qa9-;,ﬁwn.a.3?.aﬁaﬂﬁﬁ

4

(SRT AT J-41.3% ) i

é{CF of frackion _ R of vomaaby - :
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QUESTION 10- FIND THE LEAST NUMBER WHICH WHEN DIVIDE BY

3,4, 5,6 AND LEAVES THE REMAINDER@

\/

I 10- 98 Jﬂdqmaﬁ?ﬁﬁﬁﬁlﬁw 3.4, 5, 6@%‘41’%?[%

Wﬁ?ﬁ&%@@mwk
J\(m O‘)( 3/%5/6: g@

ho = 60+2
= 02

————

A.32
B.42
C.52
\ D62
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Question 11- A sum of Rs 17800 divided among A,B and C such that ratio
between the share of A and B 1s 4:5 and that of B and C 1s 6:7. How much

money did B get?

9 114178009 HI TRT AT A, B 3 C o s 39 IR fawnisrd fomam mm 8
foh A STIUB oh 128 o sfT=l T 37U 4:5 © 3T B 3R C o {668 T 31U 6:7

2l B 1 feha=T 9T fHen? A_.5000
_B-6000

C.7000

D. 8000
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Question 12- A bag contains 1 Rs, 50 paise and 25 paise coins in ratio
5:7:9 . If total Rs 1s 8600 then find number of 50 paise coins.

ST 13- Uk ST | B, 50 T 3 25 ﬁﬁ%ﬁﬁ@mﬁ%
3 et 8600 T &, T 50 UH o TGkl hl T I shiTSIY
A.4600
—B. 5600
C.3600

D. 6600
E. None of these

https://t.me/mathbytarunsirmepl
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